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CymMmMa 1 pasHOCTb CMHYCOB
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sin & + sin 3 = 2sin
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sin @ — sin 3 = 2sin > — COS




CymMma 1 pasHOCTb KOCUHYCOB
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cos (¢ — €os (3 = —2sin : sin




Hantn sHadyeHune BblpaxeHnga
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Hantn 3HadyeHune BblpaXkeHus

cos 68° — cos 22°

sin 68° — sin 22°

68° +22°  68° —22°
cos 68° — cos 22° = —2sin ;22 sin 2 - = —2sin 45" sin 23°

sin 68° — sin 22° = 2sin i ; i cos 08" ; 2 = 2sin 23° cos 45°

cos 68° — cos 22°  —2sin 45° sin 23° 2sin 45° .
, , = — = - = -2g4d" =-2.1=-2
sin 68° — sin 22° 2 sin 23° cos 45° oS 45"




YNPOCTUTb BbipaxeHune

. 77r : w

S111 IR S111 5
iy m

COS T COS )
. Tr * 7r
S1I1 — — S1I1 —
' 10

cos 7’ + cos 1"



PelunTe ypaBHEHUA

cos 3x +cos ox = 1)

sindxr —sinJ3ax = 0



PelunTe ypaBHeHUe

cosdxr — cos 3z +cos 2x = ()

[ns nepBoro un TpeTbero craraemMoro NpPUMeHnm
dopmyny npeobpasoBaHns CyMMbl B Npoun3BeaeHne

4r + 2x 4r — 2 )
2 cos ; COS > —cos 3 =10

2cos3rcosa —cos3x =0
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